AR R F T TS E R 105 2H moE F R B M % % & 525 t
[E73% 403 t ] [B3E 122 t ]
B ATWEIIIRIBIS B 38 % = R ATWEIIAMBESB ALY 65 % rE
B AL B (BGAH)
B e £

b H FEEM | B i | & & % fE 5t H EEEM | B AL | B E % fH

S AN & [ 200 g 129 86 | A A Foagk L 10 ke 4,104 2, 160

LA7 = B 200 g 108 — | on3 EF & 10 ke 4, 644 2,916

TEok & W 200 g 108 64 | FE — - — —

EONAZE D = B 200 g 194 129 | BAE (RARLESR) = R 10 ke 3, 456 —

ERCEY = B 8 ke 4,104 2,700 | JIREBAE Fomk L 7.5 ke 3, 456 1,512

LwAEL X B 160 g 270 — | BE& £ B 350 g 648 594

— — - — — I <h v 5 kg 6, 480 4, 860

2N A EF & 10 ke 2, 160 1,296 | 7—/A AR A1y 2 FF 8 ke 6, 480 —
FEEEIZA U A AtHEE 10 ke 1,944 1, 080
< &N £ B 15 ke 3, 780 2, 160
e P4 IS 10 ke 1,728 1, 080
L&A £ % 10 ke 4,320 2, 160
EwwIH b iz 5 ke 3, 240 —
AN = R 5 ke 2, 160 -
h< b = IR 4 ke 3, 564 —
B = O 150 g 108 —
En L x AbiEE 10 ke 3, 780 1,512
mERE AbvEE 20 ke 5,184 4, 860
A LW ™ 5 100 g 172 108
F 071} as 1 ke| 29,160 12, 960
LT £ % 100 g 64 32




A B R REETNERER 108 2H HOE Kk B WO R OB 47t

ML . ATEEIBESEBE 27 % /IEn (#4823 t ] [GE 91t ] [#5F+ 15t ]
Bz P (BOAA)
fif A e +
s B FEEH | B | & E %z fE B g FEEM | B | & E % 1B
AE A KYE 1 kg 2, 052 1,890 | Y4 F U 1 ke 3, 888 1, 080
mESAHLE — — — — | #EH A J IV o 1 ke 1,296 702
T E & 1 ke 1, 080 648 | # T = TAUD 1 ke 2, 160 1, 080
A & I 1 ke 2, 700 432 | A& KL 1 ke 1, 458 —
AT A 1 kg 324 140 | FU A E B 1 kg 5, 400 1,728
AWVA AT 5 & 1 ke 1,296 691 | BAT V= JevEE 142 248 162
[EAN<F = IR 1 ke 2, 084 486
&5 A = IR 1 ke 1,728 972
&5 a oL 1 ke 2,916 o
INTE = 1kg 2, 376 324
TV AbiEE 1 ke 1,512 594
71 % R 1 ke 6,912 1,036
e R 1 ke 1,512 432
Z7V B % 1 ke 3, 121 1, 728




